Dhirections—{C) 1 to @) Select the

redated letter fword fmumber from the
aiven BlEematives—

1.

SKIT : TIKS:: 2 : FLAP
{4 PLEA {B} FFAL
{C)] PFLAF (% PALF
B 72 rRE

i) S (B s
{C) M4 (O 92
briprig:?

{A) 81 (B) %=
) 42 (D} &6

b e [

(A 124 (B} 124
1 112 () 192

Asthuma : Langs = Conumetivitks
=3

(A} Bones
) E}'r_'n

(B) Teeth

(D Blood
Communicable disease : Malama
22 Momscomamunicable discase - #
(A} Tuberoalesis

il ['Ir-'|'.|:||'i|'i:=.

{71 AIDS

{3 Cancer

Thermometer @ Temperatur: |
Clacpmeter : 7

(A} Body sugar

1B Body resistamoe

{71 Bload

{I1 Blood sugar

Drismay : Jov :: Tend - ?
(A} Regret

{Bl lgnore

{C) Negligible

{0} Spoil

TRURA WY o VW
{A} ABCD (B} ABDC
{1 CRAD (D BCDA

Divections—iCr 10 to 14) Find

the odd word ‘momber (letters From
the given alternatives—

iR

(A} 4249
(01 Al

[B] 7588
(D 471

11.

13.

14

are

(AY eeggilk  (B) pporr e
(C) dbadd {Fhi (D) kk w0 gy
(A X (B8] I

(o) (I

(AN Prn (B} Letter-head
L] Fa‘pr'q' 1L anl:-n'rr
(A} Reed {B) P

(C) Teb (0 Held

CHrections—ICh 15 @ 23] A serics
given, with ome e missing.

Chowese Ehe oorrect altemnatye from
the given one that will complete the

ST —
»
15 CDF, DEG, EFH, .
{A} FHG {8} EFI
i) FGH D) FGL
2
16. ZA, VO, RE, NG, -, FE
{A}y OH {B1 KI
LS| i
17 d, 18, 34, 1 1M
{A} 56 (B} &4
T 48 {52
18 2.3 10 15 26, ?
{A} 30 (B} 52
{C) 35 D) 4
3
19, 12,23, 34,45, ", 67, 78, 89
{A} Ta (0] &8
{C) 36 (D) 54
F
2. EAB, GCD. MI], -
(A} ROP (B} QOP
i OKL (D) FOP
7. ACE, BDF,GIK, ..
(A} THM (B H]I
{C) HL i) MIH
2} WEF, SGM, 0L, .3
(A} NPH B} KEQC
LG (D) MOQG
I
23, DEF, HIJ, MNO, .
{A} RTV (B} SRO
) RST (D) STU

13

27

i

1520+ 15 =24 aned &4 + 13 = 42,
then 11 + 28=7
(Al 33
iy 31

(B} 3
(D) 34

In the diagram alongside,
AD =Z2AB = . What ix the area

of Hheer sbhumdind 'Frnrl.'il:m s
A < 2]
o L
(A} 28 8 5
] i}
0 £ o &

Fired out the set among the four
sets which is like the given st
Ciiven et - (9 27, 18]
(ALY {1545, 903 {B) (8 32, 95}
(C) {515 75} {00 {11, 33, 132}
Momhber of letters :-;k'ipp-r_n:l i
betwern adjacent letters in the
seeries 15 bwon Which one of the
'ﬁ:l-'ll‘uw'ing altermatives ohserees
thuis uade ¥
tAr UROLIF (B} WTOME]
(03 SPMLE D TSPMEH
Choose the synonvin for  the
given word from the given
LS.

‘Exposition’
(Al Exammation
(Bl Expression
{7 Elacidation
{0 Revelaton
Some equations arne solved om the
basis of a corkain prim'i.pir {m
the same haszis, find the comrect

answer from AT, the alter
nahves g‘i'.'r'ﬂ

ITUIENG; 2160 180005; THH b

(Al 810 (0] 7T
(C) 81 (D} 648



31.

33.

5.

Earan f:n.'in_l.; towards  South
moeed :-i!T.'Ii:F;l‘lt T km andd fromi
there, trmed o his right 907 and
travelled 2 ken. Them, he topk a
45 mmn ko his left ard ravelled 1
km. Where would he be now
with respect to the  starking
poant ¥

(Al Morth West reglon

(B} South West reghonm

(C] South region

(D] South East region

Bieema walks 4 km East amd then
eyches 10 km Morth, tums to the
left and covers 4 km and onee
.'I_I-;Fliﬁ turns o the MNorth and
moves 2 k. Hoow far is she from
the starting poant 7

(A} 10km  (B) 14 km

{C} & km (D} 12km

Laxrni started walking South-
wards amd after covering a dis-
tamce of 30 m, she mormed left,
She walked 25 metre, and rmed
to the left and agaimn walled 30
metre. How far is she from the
starting point and in which
direction ?

(Al X Waest (B) 25t West
{*} X5 m Baxt (D} 3m East

In a fertain eode, "CAPITAL" i
writhm a= "CPATILA'. How i
PERSONS written: im that code 7
{A) PROMRES

(B} POMSRES

{C} PESDOMNES

([ PRECSSM

IE PAINT s coded as 74124 and
EXCEL is coded as 93596, then

how  would  you encode
ACCEFT ¥
{A] 435973 (B 73551

() 534978 (DM 54790s
It fodbowing problem—
= Stand for
t ztands for —
o stamids for =
- stands for =
= stancks for 4
= stands for x
= starsds for =
When these  new
sulsstituted, only

correct,  Identify
Ao —

symbols are
one will be
the correct

(A) M=d=5x17+13
(B) M-4+2x17+13
0] M=4=5x17=13
(D M4+4=5=17+12

Two statements are followed by
two assurmptions | oand 11 You
have to consider the statements
b b brae, vt if thiey seem bo be
al  warance from  commonly
known facks You have to decide
which of the givien oot lusions, if
any, definitely follows from the
Eieen stalerments,

Statements :

1. Parental rode in the education
of their children is wery
siggnificamt,

2 All parents must realise this,

CapmicEursinms

I. Parentless children  cannot
|_'|r1.'|."ll:|]:| to their maximum
potential

. Parents can hedp their child-
rem in their edwcation.

(A Meither cotwlusion | noer [

follows

(B} Both conclusions | and [

[l loves

37

117 Url]'_n.' contlusion | follows
(N I:']'n]_',.' conclusion 1 followrs
Find put the mumber which does

not belong to the group of
ABCD—

8 5
(A *@ i 5@1
s 3

T 5
) J@H {0 :"@‘.‘.

Drechons—{0. 38 o 40} Seloce

the missing number from the given
responacs—

35,

5 r 4 3w
F3 o 5 59
- T R3
{A] & {B) 7
i) 4 (0 &
g1 10
2 3
4 7 -
4 5 G
{A) 2 (B) 5
) 4 (3

40,

41

42

43

g (140 15
1% NEL] 2
LTI S 3 |
(Al 33 (B 42
) 14 i 36
Which amswer figure will com-

plede the guestson figuamne ?

Cruestion figure :

Answer figures :

e = == =
IR | Y|
[A) [Ek} [ 0] ]l

Which of the answer figunes is
exactly the mirror image of the
wiven figuees, when the mirror 14
bl as shodwen *

Qruesdion figore -

H 3]

3 A

Answer figures :

Ll O R A R A
AlE E|R|||E|R A3

(A (B} L (¥
A oword is 1'I""|.'I'|'r:--'¢'1'l!'|"‘~|'| h:.-' q,'«nl:,'
onie set of mambers as |._::'iw-n im
any one of the altematives, The
sots of mumhbers g'i'l.'e"n- in the
altermatives are represented by
bw o classes of alphabets as in the
2 matrices given below, The
columns and rows of matrx | ane
mumbered from O to 4 and that of
matrix 11 from 5 to 9. A letier
from these matrices can be repre-
sented first by its row and oext
column number, ep., ‘F can be
mpmm’mmd ]:rl,-' 1d. 27 ete. "5 can
= rrr]:!mm'nb::d bj-' EH, W el
a-'irni.larl}', idr-nl'il":,.' ther werrd TEIF

AMATEIXR YMATHIX T

]l 14 L e
QDE|FITMN[]|Z]O|F|R]S
T[N E|F &S| T]O]|F|R
2|E|F ML [T ] RS T O
JIN|D]EJE]T [|&]T|O|F]E|S
Al F|I I E|[*|R]&|T|O]F




45

H

(A 7E 78 21, 76

59, 57, 41, 56

HE, BH, 33, 84

by, B4, 4100, AL

Select Hhee answWErR r':|_-'1|'\;'.- i which
i kst figure is hadden—

| uaestion Fimine

AMSWET Igures

b|B DD

{A) 1Bl ([

A triangular shest of paper has

heen folded amd |1l.::|r|'|r-|.*. A%

()

shaman im the Fgumre, You have o
higure out from amongst the four
e e I'.:;.u i :"\-l_ll'h it will
.-I,'an'.-u whien |_|P|"|||'|‘|. 7

raestion Nguires

A

l|I:-\.|'.'_' f1ures

Ad

2
A

Al

(Lo
inteligenoe,

which

]

Al (Bl (]
It a person
charactker ard '|'.-|-1irir_l:|
figure Tepresents all of these

has

SR

i) 1E) 1] (LX)
HI_I'.'. TYLAFTY LSS AT I:|||' e 1 A
SN firure ?

=
L

||

(A} 12 {B} 13
Ch 1
Which figure represents the rela

".|||1-'3':i'|'\- among Hockey |‘|!.-|'|.'|"I"-'
Eubber halls, Poects 7

ik
@ @0

b

AL 1B 4
(o2 (L 5

I thee |,:I,I|"l1|‘-|,||| e part of the
r--':_:'clr--':'. .":_-_;';'-'-'r 15 subiracted
Select thie oprtiom that shioes the
cireck sha p after subtrachon—

Lieslion Fljfire

Il
)

[ = s

£

{8

)

(Al {Bl
Identify the answer figure from
which the picees given o gues
THATY FETe |'|.-| Vi i_'||'1"|| ub—

Uaeslion Mgre

ap
Oy
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